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1. What is the equation of the auxiliary circle of 16 - 9 =1 ?

A)

C)

x2 + y2 = 9 B) x2 + y2 = 25

x2 +y2 =7 D) x2 +y2 = 16

2. Find the equation of tangent to the hyperbola 4x2 - y2 ='64, which is parallel to the

line 8x-6y+11=0.

A) 2x + y =1 B) Tangent does not exists

C) 3x+y=l D) x+3y=l

3. For non-zero vectors Y, y E R3 if x • y = I Y I ' I y I , then what is x x y = ?

A) B) Unit vector

C) 0 D) Ix I ly

Lim Cos a)" + Sin a^x 1
4. Obtain x- 2 x- 2 , where 0< a< 2

A) Sin2 a Loge Sin a - Cos2 a Loge Cosa B) Cos2 a Loge Sin a - Sin2 a Loge Cos a

C) Cos2 a Loge Cos a - Sin2 a Loge Sin a D) Cos2 a Loge Cosa + Sin2 a Loge Sin a

5. For the unit vectors a and if a + b = 0 , then what is a • b ?

A) -1 B) 2

C) 0 D) 1

(Space for Rough Work)
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6. What is the area of A ABC if AB = i + 2j + 3k and AC = -31- + 2j-* + k in O ABC ?
A) 3^,/5- B) Y2 r5

C) 45 D) 5 -,r3-

7. What is the magnitude of the resultant force of the forces (1, 2, -1) and (-3, 0, 2) ?

A) 5 B)

C) 9 D) 3

8. If f (x) = 2x + 2x+1

A) 2xLog2

C) 1023Loge 16

+ 2x+2 + ....... + 2x + 9, then find r (2)

B) None of these

D) 1023 Loge 2

9. What is the direction of the line

A) (-1, -1, 4)

C) (1, 1, 4)

passing through the points (2, 1, 3) and (3, 2, -1) ?

B) (1, 1, -2)

D) (-1, -1, - 4)

10. What is the equation of line passing through (1, 2, 3) and perpendicular to

3x+4y--5z=6 ?

A)

C)

x-1 y-2 3-z

3 4 5

1-x y-2 z-3
3 4 -5

B) x-3 - y-4 - z+5
1 2 3

D)
x-1_2-y 3-z

3 4 5

(Space for Rough Work)
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11. What is the perpendicular distance between 2x + 2y - z + 1 = 0 and

A) B) NF2

C) 2 D) 1

x+y-2+2=0?

12. What is the radius of the sphere whose extrimities of the diameter are (1, -1, 1) and

-1,1, 1) ?

A) 2[2- B) 1

C) V2- D) 2

f 3Logx 1
13. Find J (x4 + 1) dx

A) -Log (x+i)+c

Lim Sin _

x->0+ yX_

A) -1

C) Log (x4 +1)+ c D) 4 Log (x4 +1)+c

14.

15.

C) 0

B) None of these

B) Does not exists

D) 1

Lim f (Cos x) - = 1-x
X ---> 0 x2 ?Where f ^x^ 1+x

1 B) 1A) 4 5

1 D) 1
C) 2 3

(Space for Rough Work)
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16. 3x+2 -5 'xER-(-%)

A) (1,%)

C) R - (1'Y3)

17. dx [Sec -1 e2x,= ?

2
A) e4x _ 1

1

C) J1-e4x

2
B) e2x e4x _1

- 1D) 1_e4x

x+a )] =
18. Tan-1

1-ax ? ( Where x E R + , a E R + , ax < 1 )

1

A) 1+a2 x2
1

B) 1+a2 x2

-1

D) 1+x2

19. - [e9th_1x + Cos-1 x J _ ? (Where Ix

Jr
B)

D) 0

It

2

20. If there remains an error of 4% in measuring the area of a circle, then what is the
error in percentage in the radius of a circle ?

A) 6% B) 8%

C) 2% D) 4%

then what is the complement set of this set ?

B) (-%, 1)

D) R - (-%,1)

(Space for Rough Work)
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21. If (2, 3) lies on y2 =ax3 + b,
slope of tangent at (2, 3) is 4, then what is the value

of a?

A) -7 B) 7
C) 2 D) -2

22. What is the rate of change of the volume of sphere w.r.t. its surface area when its

radius is 2 units ?

A) 2 units

C) 1 unit

B) None of these

D) 3 units

23.
f e-2Log x dx = ? (where x * 0)

A) -1 +c
B) -x +c

x 3

C) 1 +c
x

D) 3 +c

24. f (Sin-1 x + Cos-1 x) dx = ?

A) x+c

C) Not possible

7r x
B) - 2 +c

a x3Tan x - Tan
3 3 dx = ?

f25.
1-3 Tan 2

3

A) -Log l Cosx l +c
B) Sect x + c

C) Log I Tan x +c D) -Log l Sec x l +c

(Space for Rough Work)
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26. (S an x)

0 (Sin x)2006 +
(

G,,
os x)

2006 dx

B) None of these

k

2 2006

C) 2006 -(Sin X)2007
D)

Jr

4

('
27. If f ^- dx

= 12 then what is the value of k ?f x x 1

A) 0 B) 1

C) -2 D) 2

28.
. a

If f f (x) dx m and
0 z is an even and continuous function defined on [-a, a], then

a

evaluate f f (x) A

A) 2m

C) m/2

-a

B) 0

D) m

29. Find the degree of (y )2 - F
YI = y32 1/"1

A) 3 B) 4
C) 3 D) 2

30. A particle is moving with a uniform acceleration . If it covers a distance of 7.25 and
9.25 meters in 5th and 9th seconds respectively, then what is its initial velocity ?
A) 5.5 m/s

B) 7 m/s
C) 10 m/s

D) 5 m/s

(Space for Rough Work)

a e R+)

BOOKLET B [81



AB-2

31. For right angle triangle ABC, AB = AC. What is the circumcentre of AABC having

the vertices are A (1,1), B(5,1), C(1,4)?

A) (3, %)

C) (1'

B) (3,1)

D) (6, 5)

32. A 2,- 3) and B (-5, 1) are two vertices of the
AABC. Its centroid is on x-axis and

vertices C is on y-axis, then find the co-ordinates of C .(

A) (2, 0) B) (0, 2)
D) (-2, 0)

C) (0, - 2)

7), B (-1, k ) and C (5, -1) are the vertices of AABC and mLACB =
233. If A (11, , then

what is k ?

A)

C) -5

B) None of these

D) 5

34. Obtain the angle between the lines {(x,0) / x e R} and {(0, y) / y E R}

7r B) 0
A) - 2

D) 2
C) ^

35. If kx + 2y - 1 = 0 and 6x -4y +2=0 are identical lines, then determine k-

A) 6 B) Y
D) -3

C) 3

(Space for Rough Work)
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36. Line 12x + 5y + 60 = 0 intersects the axes in A and B respectively, then whatequation of the circle whose diameter as AB ? is the

A) x2+y2-5x+12y=0 2 2
2
2 B) x +y + 5x +12y =oC) A. +y -5x-12y=o D)

x2+y2+5x-12y=0

37. If (1, 2) is the centre of a circle passing through the point (4, 6)
,length of a circumference of this circle ? (^ ) then what is the

A) 257
B) None of theseC) 57c
D) 10,r

38. What is the value of

a parabola y2

A) t=3

C) t= Y3
39. What is the area of

rectum of x2 = 12y ?

A) 36

C) 9

t such that P (t)
and Q (3) are the end points of a focal chord of

B) t=-3

D)t=%

a triangle whose vertices are vertex and end points of latus-

B) None of these

D) 18

= 4 ax

40. Find the length of major axis and its eccentricity of x2 + y2 = 1.
A) Y and 16 .25

B) None of these
C) Y2 and r3l

V /5 D) 10and Y

(Space for Rough Work)
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